
Nome: SoluzioniTrova i multipli

Matematica www.CommonCoreSheets.it
1-10 93 87 80 73 67 60 53 47 40 33
11-15 27 20 13 7 0

Risposte

1. A

2. D

3. D

4. C

5. C

6. D

7. C

8. B

9. C

10. A

11. B

12. C

13. A

14. B

15. C

Risolvi ogni problema.

1) Quale opzione è un
multiplo di 5?

A. 70

B. 74

C. 61

D. 91

2) Quale opzione è un
multiplo di 10?

A. 199

B. 173

C. 163

D. 180

3) Quale opzione è un
multiplo di 6?

A. 95

B. 81

C. 82

D. 78

4) Quale opzione è un
multiplo di 2?

A. 35

B. 41

C. 24

D. 25

5) Quale opzione è un
multiplo di 5?

A. 73

B. 81

C. 100

D. 64

6) Quale opzione è un
multiplo di 3?

A. 41

B. 44

C. 35

D. 48

7) Quale opzione è un
multiplo di 9?

A. 148

B. 109

C. 99

D. 112

8) Quale opzione è un
multiplo di 9?

A. 124

B. 153

C. 115

D. 175

9) Quale opzione è un
multiplo di 6?

A. 71

B. 109

C. 108

D. 81

10) Quale opzione è un
multiplo di 3?

A. 33

B. 38

C. 59

D. 35

11) Quale opzione è un
multiplo di 10?

A. 165

B. 190

C. 207

D. 144

12) Quale opzione è un
multiplo di 9?

A. 141

B. 128

C. 144

D. 143

13) Quale opzione è un
multiplo di 6?

A. 114

B. 112

C. 106

D. 89

14) Quale opzione è un
multiplo di 2?

A. 31

B. 38

C. 39

D. 33

15) Quale opzione è un
multiplo di 3?

A. 43

B. 41

C. 48

D. 47
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